XEWOMK
HE A SRS 8 007 HANSAVFLEX

!E - Ly —_

01 K ABL BT aw. I L
BHER 1 OREAER ] ¢
o2 KEIAIBR AT | ) 38
BHER 2 2098 L vy
EMRE  mARERERE SATAT S —— s1

& ;B F 1 tq—;l oR
HEBE | EEEEHZBRSNTIHNF 3 L

[ w G

RERP BERE

7R
BRRE, FA, EXREHNAFN TEREN LA EESATREEENRRER.
&

XEWOMK NW 04 HL L PN 315 6 M10x1 M12x15 7 14 20 21 14 13 8.1x1.6
XEWOMK NW 06 HL L PN 315 8 M12x15 M14x15 10 16 22 23 14 17 93x24
XEWOMK NW 08 HL L PN 315 10 M14x15 M16x15 10 17 24 24 19 17 113x24
XEWOMK NW 10 HL L PN 315 12 M16x15 M18x15 10 19 25 26 19 19 133x24
XEWOMK NW 13 HL L PN 315 15 M18x15 M22x15 11 21 31 28 22 22 153x24
XEWOMK NW 16 HL L PN 250 18 M22x15 M26x15 12 24 33 31 27 27 19.3x24
XEWOMK NW 20 HL L PN 160 22 M26x15 M30x2 14 28 36 35 30 32 23.5x2.6
XEWOMKNW20HL 27 L PN 160 22 M27 x2 M30x2 14 28 36 35 30 32 23.6x29
XEWOMK NW 25 HL L PN 160 28 M33x2 M 36 x 2 14 31 39 38 36 38 29.5x3.0
XEWOMK NW 32 HL L PN 160 35 M42x2 M42x2 14 38 49 48 50 50 38.0x3.0
XEWOMK NW 40 HL L PN 160 42 M48 x 2 M52 x2 16 38 50 49 50 55 44.5x3.0
XEWOMK NW 03 HS S PN 315 6 M12x15 M14x15 10 15 22 22 14 17 93x24
XEWOMK NW 04 HS S PN 315 8 M14x15 M16x15 10 17 26 24 19 17 11.3x24
XEWOMK NW 06 HS S PN 315 10 M16x15 M18x15 11 18 27 25 19 19 133x24
XEWOMK NW 08 HS S PN 315 12 M18x15 M20x15 12 22 31 29 22 22 153x24
XEWOMK NW 10 HS S PN 250 14 M20x15 M22x15 14 25 36 33 27 27 173x24
XEWOMK NW 13 HS S PN 250 16 M22x15 M24x15 14 25 36 33 27 27 19.3x24
XEWOMK NW 16 HS S PN 250 20 M27 x 2 M30x2 16 28 39 38 30 32 23.6x29
XEWOMK NW 20 HS S PN 160 25 M33x2 M 36 x 2 16 30 44 42 36 38 29.5x3.0
XEWOMK NW 25 HS S PN 160 30 M42x2 M42x2 17 36 51 49 50 50 38.0x3.0
XEWOMK NW 32 HS S PN 160 38 M48 x 2 M52 x2 19 34 54 50 50 556 44.5x3.0
PN=#EESN PB=BRAIEED - EHMRILLL=FEE =8 S=E - gd2=EHNER

FRER
EWOMK HEAKR#5ERE AE00°, #HRBIANATNEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
14.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



